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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

1 (a)
(b)
1 (a)
(b)
2 (a)
(b)
2 (a)
(b)

(2) Marks are indicated on right side.

What is correlation ? Explain its types.

Find coefficient of correlation from the following data :

X 100-80 | 80—-60 | 60—-40 | 40-20 [ 20-0
0-50 2 4 7 - -

50-100 - 6 14 8 -

100-150 - 1 8 12 3

150-200 - - 20 6 3

200-250 - - - 1

OR
Explain :

@ Rank correlation coefficient method of Spearman.

@) Scatter diagram method.

Find out the Spearman’s rank correlation coefficient :

x:[5(8]6[|9|5]|10(4]|2
y: 5185941062

State difference between Correlation and Regresion.

3x + 2y — 26 =0 and 6x + y — 31 = 0 are the two

8
12

10

10

8
12

regression line equations, if o, = 12 then find out x,y,r

and o,.

OR

Define the regression coefficients. State its properties.

8

From the following data, obtain two lines of regression. 12

Estimate the value of y when x = 5 and value of x

when y=6 :

x:[2]4]6[8]10
y:|s[7]o]8]11
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3 (a) Explain the following terms : 8
(1) Random Experiment
(2) Sample Space
(3) Probability Distribution
4) Conditional Events.

() If 4, B, C are three mutually exclusive and exhaustive 7
events and 2P(4) = 3P(B) = 4P(C) then find the value
of P(BLC) and P(B'NC').
OR
3 (a) Define the Mathematical Expectation and state its 8

properties.

(b) The probability distribution of a r.v. x is given below : 7

x |2]-1lo]1]2
P(x) 02|k [03]3K [01

Find the value of ¥ and find @) E(2x-3) (1) V(2x-3)

@) E(x?+3).
4 (a) State the properties and uses of Binomial distribution. 8

(b) For a Binomial distribution mean is 3 and variance 7

is 3/2, then find the prob. of getting at least four
successes.

OR
4 (a) State the properties and uses of Normal distribution. 8

(b) If variable x is normally distributed, find its two 7

parameters from the data given below :

Variance : Less than 45 45-64 More than 64
Frequency : 310 610 80
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